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FEBLD REIBED FEBLD 2 REIBED % FEBLD 2 AEIBLE
% ® % % # % % ® % & % % & # % & % %

1074 17,250 100.0 16,623 96.4 627 3.6 934,564  100.0 924,153 98.9 10,412 11
1084 16,039 100.0 15,658 97.6 381 24 1,589,860 100.0 1,585,905 99.8 3,954 0.2
1094 14,337  100.0 14,228 99.2 109 08 1,196,469 100.0 1,193,027 99.7 3,442 0.3
1104 11,996 100.0 11,108 92.6 888 74 1,932,658 100.0 1,923,309 99.5 9,350 0.5
1114 20,492 100.0 20,369 99.4 123 0.6 1,021,927 100.0 1,006,347 98.5 15,581 15
1124 27,147 100.0 26,383 97.2 764 28 1,622,382 100.0 1,557,147 96.0 65,235 4.0
1134 31,946  100.0 30,174 94.5 1,772 55 2,647,069 100.0 2,600,280 98.2 46,790 1.8
6H 3,292 100.0 3,249 98.7 43 1.3 1,151,855 100.0 1,151,788 100.0 67 0.0
7H 2,090 100.0 2,023 96.8 67 3.2 127,168 100.0 126,708 99.6 460 0.4
8H 2,431 100.0 2,319 95.4 112 4.6 81,374 100.0 79,558 97.8 1,816 2.2
9H 2,978 100.0 2,526 84.8 452 15.2 173,110 100.0 165,140 95.4 7,971 4.6
108 2,417 100.0 2,409 99.7 8 0.3 92,433 100.0 92,413 100.0 20 0.0
118 2,264 100.0 2,236 98.8 28 1.2 54,026  100.0 53,976 99.9 50 0.1
128 2,938 100.0 2,855 97.2 83 2.8 73,683 100.0 73,644 99.9 38 0.1
114%F1- 6 B &5t 18,530 100.0 18,167 98.0 363 2.0 387,867 100.0 382,253 98.6 5,614 14
14 2,229 100.0 2,116 94.9 113 51 64,224 100.0 63,881 99.5 343 0.5
2H 2,467 100.0 2,393 97.0 74 3.0 88,188 100.0 87,433 99.1 755 0.9
3H 2,534 100.0 2,447 96.6 87 3.4 86,647 100.0 86,543 99.9 104 0.1
48 2,831 100.0 2,827 99.9 4 0.1 55,170 100.0 54,831 99.4 339 0.6
5H 3,993 100.0 3,977 99.6 16 0.4 41,836 100.0 39,692 94.9 2,143 5.1
6H 4,476 100.0 4,407 98.5 69 1.5 51,802 100.0 49,873 96.3 1,929 3.7
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